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Test one

(IKE—)

Part I Listening Comprehension (20 minutes, 15 points)

Section A

Directions: This section is to rest vour ability to understand short dislogues. There are 10
dislogues in this section. After cach dialogue,  thete is question. Doth the dia-
Jogue and the guestion will be spoken twice. Then there is a pause. During the
pause, you should decide on the best answer from the four chorces marked A,
B, and D given in your test paper. You should mark the corresponding let-
ter of your choice on rhe Answer Sheet by drawing a short single line through
the center with & pencil.
Example:
You will hear:
M: Did you go to the store before or after you ok a rest this afternoon?
W After.First | took a rest and then | went for a walk. I did shopping right
after supper.
Q: When did the woman go shopping?
You will read:
A.Before she took a rest.
B. After she went for a walk.
C. Before she made supper.
D. After she made supper.
From the dislogue we learn that the woman went shopping after she went for a
walk. Therefore, “B.After she went for a walk.” is the correct answer. You should mark B on

the Answer Sheet. Now the test begins.

1. A.They will finish their exam. B. They will have their holiday.
C. They will visit their friends. D). They will study at a college.
2. A.Black. B.White.
C.White and red. D.Red and black



. AL T is very interesting.

C. 1t is very baring.

. ALBI00
C.9:00

5. A.Ken

C.Betty

. AL Four years ago

C.Five months

. AL Snowy
. Rainy

. AL He is very happy.

€. He is not at home.

. A The railway station

(. The doctor’ s

3.1t is better than watching TV.

I). She enjoyed herself.

B3.9:30
1.8:17

13.Ken and Betty
3. Neither of them

3. Far five years

1. Four months

B, Windy
D. Cloudy

[4.He is very sorry.
1. He is ill.

. The office

). Her parents’ home

10 A.In a factory. B.In a store.
C.In a school. [.1n a post office.
Section B

Directions: This section is to test your ability to understand short conversations. There are
2 conversations in this section. After each con versation, there are Some ques-
tions. Both the conversation and the questions will be spoken twice. When you
hear a question, you should decide on the best answer from the four choices
A, B, C, and D) given in your test peper. Then mark the corresponding let-
ter of your choice on the Answer Sheet by drawing a short single fine through

the center with a pencil.

11. A.Chinese 900. B.900 new books.
C.New English 900. _ D. English 900.
12. A.She is ill. B.She is afraid of English.

. She is afraid of school. D. The teachers in the school are not very nice.



13. A.To thank them for the party.

. To invite them to a dinner.

14. A.He is too ambitious.

. The woman doesn’ t like him.

15. A.He is not very happy.

B.To thank them for the dinner.
D.To invite them to a party.

B.He is not ambitious.

D). He is nice to her mama.

B.He is always so quiet.

C.He is always talking and laughing.

Part II Vocabulary and Structure

D.He is very ambitious.

(20 minutes, 20 points)

Directions: [n this section, there are

20 incomplete sentence, each foallowed by four

choices marked A, B, C and D.( Thoose the one

sentence, Then on the Answer Sheet, mark the corresponding

that BEST completes the

letter of your

choice by drawing a short single line through the centet with a pencil.

16. The Second World War in 1939.
A broke out I3. broke open
C. broke up D. broke off
17. The hill is _ _ __of trees.
A.empty B.nude
C. bare . bear
18. If 1 take this medicine twice a day, it should __ _ my cold.
AL recover B. heal
. restore D.cure
19. This story ____ my childhood.
A.tells on B.reminds me of
C.speaks D.say
20). It is reported that no one was ______ in the accident.
A damaged B. suffered
C.injured D.wounded
21. Wedon"twantto __ these old English newspapers, which might be used

by students.
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28.

29.

30.

v. Flight nineteen from MNew York to Washington is now arriving at ___

AL gate two
C. the gate two

A dispose of B.deal with
C. differ 1. expose
. All medicine [ took had no __ on me.
AL influence. B.effect
C.impacts D. function
. After two hours of hard fighting, the soldiers __ the battle.
A. got B. beat
C. defeated D.owon
. They have nothing _, so they can’t come to an agreement.
A.in doubt B3.in addition
C.in vain D iA common
. He brings his _ home to his wife every Friday.
AL salary 3. wages
C.incomes [}, savings

B.the two gate
D.second gate

to have lunch with us today?

A. Do you like
C.Would you like

C.Often

His doctor suggested that he
AL will take
C.take

Upon returning from class, __

A.he found a letter in the mailbox

C.a letter was found in the mail box

B.Will you like
D.Have you like

has any county made so much progress in such a short time.

B. Never
. Always

____ a short leave of absence.
B.would take
D. tock

B.a letter in the mailbox
D. the mailbox had a letter in it.



31.

32.

33.

Joe wants us I

AL to go along with him
C.go along with him

This old desk isn't _
A goodly enough
(. good as enough

1 wish that you
have enjoyed the concert.
A. hadn't

C. hadn’'t had

B. going along with him
D.will go along with him

.. tosell, but maybe we could give it to someone.

3. good enough
D). enough good

such a bad headache because " m sure that you would

B. didn't have had
13. hadn’t have

34. The teacher _ me do my homework carefully.
A asked B. made
C.asking 17, have
35, Several of these washers and dryers are out of order and -
AL need to be repairing [3. repairing is required of them
C.require that they be repaired D). need to be repaired
Part III Reading Comprehension - (40 minutes, 40 points)

Directions: There are four passages in this part. Fach passage is followed by some ques-

tions or unfinished statements. For each of them there are four choices marked
A, B, € and D. You should decide on the BEST choice and then, on the
Answer Sheet, mark the corresponding letter of the Best chorce by drawing a

short single fine through the center with a pencil.

Questions 36 to 40 are based on the following passage.
‘The native home of the marmoset (%, —F4E) is the rain forest of South America, but

these animals are friendly and inexpensive to buy and feed. They are shipped world wide. Many
lahoratories throughout the world have found usefulness in the marmoset as a laboratory sub-
ject. The marmoset is taking the place of rats in these laboratories.

The father marmoset carries his babies about as they hald tightly to his back. The mother

only holds them at feeding time. Because people didn” t know about this unusual division of labor
in the marmoset family, the babies suffered a lot. Laboratory workers decided to move the fa-
ther to another cage to make sure that he didn’t hurt the young ones. The adult marmoset who
was not carrying the babies was moved. It wasn't long before the babies starved to death ({f

-5 .
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36.

37.

39.

40.

. The first caged marmoset babies starved because workers

Marmoset can now be found ____

A.in many doctors offices B.in trees of South America
C.in many parts of the world D.only in the rain forest
Acrording to the first paragraph marmosets are used for research to .

A keep the workers interested B. test things for human use

C.save the lives of rats D). study ways of travelling in the rain forest

A.fed thern the wrong food

B.frightened them with rats

C.forgot to feed them because they were very cheap
D.moved the father by mistake

You can guess that a marmoset would .
A eat for himself when it is young B.be dangerous to small dogs
C.make an interesting pet D.run away from the laboratory

This passage is rainly about ____
A.how to train marmosets B.doing experiments

C.how to feed marmosets D.a small, useful animal

Questions 41 to 45 are based on the following passage.

Hen:

He was able to sell millions of them because he “mass produced” them; that is, he made
a great many cars of exactly the same type.Henry Ford’s father had hoped that his son would
work on a farm, but the young man did not like the idea and went to Detroit where he worked
as a mechanic. By the time he was twenty-nine, in 1892, he had built his first car. The first
mass-produced car in the world, the famous “Model T”, appeared in 1908
Henry had started his great Ford Motor Company . This car proved so popular that it remained

ry Ford was the first one to build cars that were fast, reliable and cheap.

unchanged for twenty years.Since Henry Ford” s time, mass-production techniques have be-

come common i industry and reduced the price of a great many products, which otherwise

would be very expensive.

41.

LN

R was the first one to mass-produce fast, reliable and cheap car.
A.Henry Ford B.Henry Ford’ s father
C. Detroit D). The farmer

five years after



42. Henry Ford's father at first wanted him to be
A.a mechanic B.a reliable man
C.a farmer D.a popular car producer

43. The "Model T" __
A.was Henry Ford's first car
B. had been built before Henry started his great Ford Motor Company
C. was built in 1892

D). was the world’s first mass — produced car

44. How long did the “Model T" remain unchanged?
A.5 B.25
C.20 D.29

45, Mass — production techniques become common in industry because
A. "Model T" was popular
B. “Model T" was famous
. "Model T" was fast, reliable and cheap
D. they reduced the price of great many products.

Questions 46 to 30 are based on the following passage.

The first census (A OJHTE) of the American people in 1790 listed fewer than four mil-
lion residents (f&EE )}, most of whom had come from England.Ten years later in 1800, al-
though the English were still a majority, many lrish, Dutch, German, Swedish, Scottish,
and French settlers had made their homes in the United States. Immigrants from all of these na-
tions, along with an undocumented number of African who had been brought into the country
as slaves, provided labor for the rapidly growing cities and the frontier (1 #8 K )
farms. They built factories, roads and canals, pushing West to settle towns on the edges of the
American territory. .

By 1880, large numbers of central and southern Europeans began to find their way to
America. [talian, Greek, Russian, Austrian, Armenian, and Slavic immigrants settled in the
cities, where they supplied labor for hundreds of new industries. The census of 1910 listed al-
most one million immigrants.

After the Civil War, many Asians began to arrive, primarily to work on railroads in the
West. Chinese laborers by the thousands led the way, followed by Korean and Japanese immi-

grants.

46. The word “majority” most means



A. the largest number B.the average number

(*. the srnallest number 1. the correct number

47. When did many Italian immigrants enter the United States
AL ln 1990 B.In 1880
C.In 1960 D.ln 1910

AR, We can infer from the passage that author's artitude (#H) toward immigrants is
A. prejudiced I3. respectful

. disinterested . ignorant

49 After the Givil War. many Asians began to arrive. Which country or countries did
they come from?
A.China B.Kaorea
C. Japan DA, B, and C

50. Which of the following would be the best title for this passage?
A. A History of American Immigrants
1. A Flistory of lmmigrants in the Nineteenth Century
€. A History of European Immigration to the United States
D. A History of Urban and Agricultural Development in the United States

Questions 51 to 55 are hased on the following passage.

A computer is a machine. Let us Jook briefly at the history of computers and their use in
factories. Before the year 1750, practically everything was made by hand tools. By 1800, some
machines were in use and were driven by steam engines. After this, machines were steadily im-
proved and factories sprang up (#3) all over England to make great variety of goods. Howe-
ver, all these machines were for special purposes.There were machines for making cloth,
shoes and canning food (GEFEGE3HE) . An improvement in food-canning methods, for exam-
ple, did not affect factories producing other things. The great difference in the case of the com-
puter is that it affects every company, no ratter what it makes. This is why the introduction of
computers is called the Computer Revolution.

If computers can do office work so well, does it mean that the clerks will lose their jobs?
In the future there will be far fewer jobs for clerks, but it does not mean that many clerks will
be dismissed from their jobs. There are three reasons for this. The first is that women usually do
the office work . These are either girls who will probably marry or married women who come
back to work for a few years. Women are constantly leaving the company, and in normal condi-
tions, replacements would have to be found. When the r_'.omputer is brought into the office, it

-8.



merely means that fewer new girls need be taken on. The second reason is that the companies

which buy computers will probably be expanding (#7X), so the clerks can be moved to fill

new vacancies. The third reason is that a large number of jobs will become available in connee-

tion with the computers, and clerks are suitable for many of them.

51

nn
(5]

54.

55.

. The expression “practically everything” means
A absolutely everything. B.almost everything
C. hardly anything . nothing
. According to the writer there was a rapid increase in the use of machines
A hefore 1750 B.in 1750
C.hetween 1750 and 1800 3. afrer 1B00

. The main idea of the first paragraph is that __ .
A.machines came into general use after 1800.
B. craftamen were not needed after 1800.
C.machines in general improved during the ninetcenth century.
13. unlike improvements in machinery, the introduction of the computer will affert

every company .

According to the writer, the introcuction of computers will mean that
A.many clerks will lose their jobs. B.all clerks will lose their jobs
C. there will be fewer office jobs ). the total number of jobs will be increased.

The writer says the biggest change resulting from the introduction of computers will
be .

A the availahility to the clerks of doing new jobs.

B. increased unemploymen

C. that companies will becomne smaller

D. that companies will become bigger.
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Part IV Translation (20 minutes, 15 points)

Directions: Transfate each of the foflowing Chinese sentences into English and Write
down your English version beneath each Chinese sentence.

56. XA EFRMEFKES BEMFE, (the same as)
57. BIMHRIENTRIA R E— 1~ E .
58.19 LM — RIMP KRR TH EMER. (a series of)
59. B RFMTWAESF R MR, (get ahead)
60. ARARBIGIFRSL, A G AHREAAMIH B . (depend on)
Part V. Writing (20 minutes, 10 points)
Directions: Write a notice in English with the information given bellow.
# A
AXRTFHE, 2UERFERGHEIT - REEES, BNEX

R#E, RITTUHETRISRMSEBNE, KORGRAFRENLES
i,

FLRIPLE
200 ESARH

E: FREETHF.

< 10 -



Key to Test One

Part [
1.0 2. 3.C 4.A 5.A 6B 7.D 8D 9.A 10.B 11.C 12.B 13.B
14.C 15.B

Part 11

16.A 17.C 18.D 19.B 20.C 21.A 22.B 23.D 24.D 25.8 26.A 27.C
28 3 29.C 30.A 31.A 32.B3 33.C 34.B 35.D
Part 11l

36.C 37.B 38.D 39.C 40.D 41.A 42.C 43.D 44.C 451 46.A 47.3
48.13 49.D 350.B S51.B 52.D 53.D 54.C 55.A

part IV

56. The area of this country is about the same size as Japan.
57.The teacher suggested that we make a review plan for the final exam.

58. A series of great inventions in the 19th century promoted the development of the soci-

ety.
59.A person with a good education finds it easier to get ahead.
60.1f you want to get good grades, you can’t depend tco much on others for help.
Part V

Notice
Tomorrow afternoon we are going to organize “an English Comner . All students are re-
quested to meet on the sports ground at 2: 30.Some of English teachers and foreigners will at-
tend . We are asked to speak English only. We may talk to one anther about anything we are in-
terested in. Welcome students from other departments to take part in the activities.
The Chinese Department Office
May &, 2001



Tape Script for the Listening Comprehension of Test One

Section A

1. M: I"mso glad we' ve finished our final exam.
. Yes, and in only a few months we'll begin a new life in college.

What will these people be doing in a few months?

ra

. Whase suitcase is this?
. “This suitcase is red and white but mine is black and red.

what eolor is the woman' s suitcase?

sl

sgspzspze@ze@s;s@;épszpsz@ag

. How was the party last night?
. 1 was there for only twenty minutes and then | went hack home to watch TV,
What did the woman think about the party?
. Hurry up. The train lcaves at half past eight.
Dan't worry! We will have thirty minutes left.
What time s it now?
. 1'm going to flowers show this afternoon.
; Is Ken going with you, Betty?
: No, he'sgoing to a party.
Who's going to a party?
6. W: When did you begin 1o work in the company?
: Five years ago.
How long has the man worked in the company?
: Tt was cloudy this morning.
: But is snowing now.
What was the weather like this moming?
. Hello, [ want to speak to Doctor Smith.
: Sorry.He has gone to see the doctor.
How ' s Doctor Smith?
. You look tired. Where have you been?
+ 1 planed to see the doctor, but | needed to meet my parents at the railway station
: Where did the man go?
10. W May I help you?
M: Yes, ['m looking for a sports Jacket, size forty.
Q): Where did the conversation most probably take place?

Section B:

Item No.1 {a short conversation)
. 12 .



M: Good evening, class.
W: Good evening.
M: Please sit down.Here are your books, New English 90). Now, listen to this dia-
logue. Books closed.
: 1'm nervous.
Why?
. 1"m always nervous in school.
. Why? The teacher is very nice.
Yes, he is.But English is hard.
. A new language is always hard.

: I"'m sorry. | must study hard.

222242 %

Now, open your books to page 1, and repeat after me.

Questions 11 12 arc based on the conversation you have heard.
11) What hooks does the teacher hand to the students?

12} Why is the girl always nervous?

[temn No.2 (a short eonversation)

M: What are you doing?

W. 1'mwriting a note to the Smiths. T want to thank them for dinner.
M: Why don’t you call them? Penple here always use the phone.

W. Well, okay. -

M: Why don’t we invite them t© dinner?

W. That'sa good idea.} want Marna to meet Mrs. Srnith.

M: What about Mr.Smith? Don't you like him?

W: He'simpossible.

M: Be nice to him.

W. You can be nice to him.1 don’tlike him.

M: Are you inviting James, too?

W Of course.

M: He was very happy last night.

W [ was.too.

M: But James is always so quiet. And last night, he was talking and laughing.

Questions 13——15 are based on the conversation you have heard.
13) Why is the woman writing to Smiths?
14) Why doesn’t the woman invite Mr. Smith?
15) What kind of person is Mr.James?



Notes to Test One

16. (A) broke out 8%, (M5, KK, BRE) BRRE,

broke open #JF, broke up T8¢, $FHL, broke off 37T, L,

17. (C) bare —fH4E B A KPR, bare of = naked of 184 - EM. EESR. B
AERE, WAWA, empry AT, MATHFHSEY, HWETAHAE. nude FHER
IR

18. (D) cure ¥G97, RIEALWEBER. X-BANELEHINXFHAHR KR
W, T LGERRIERT . heal EEHIEHRIFIGHGO, HHEORE, FRATHREES
Befiio restore i () EHEEF . recover 8, FE5HE.

19. (B) remind somebody of something (5 AR X EH

20. (C) damage IR EFLITY; injure HFW FOFH; wounded 5% F S5,
suffer RIFEHE.

21. (A} dispose-of 4bHE, 4bE . %4,

4N . They disposed of an enemy sentry. M1 T AMHE,

deal--with 3. Rifd, 43,

80 He can deal properly with all kinds of complicated situations. fill BE4S 25 #b 7 {7
(b)) SFEEMWRIE.

22. (B) effect W] FBRFEERMIR AMEBITERT : side effect BIFEA.

influence B0, W2 —FRT ARITH ., MBI S FEB LR,

fFli: My advice has no influence on his actions. T4 SHEETTEN R H By,

impact FIBEAEE RS (F1), Wwk “Bm”,

40 : The impact of a tax cut on the economy. HEBLITE3FrHBM ,

function AZTHIRF . £, Dhfik.

4. The brain performs a very important function, it controls the nervous system of
the body. REGRIAE K BEEER, BERHAENHSES,

23. (D) win # beat #FER “HM”", B win FREFH win a game (a war, a
prize) ; beat, defeat | H#E A, defeat (beat) a team (a nation, an opponent), win [51E
M, BFRR R, “IEEARBGE MEE,

#in: We'll try to win him over to our side. AR HIBM S Bt ¥

24. (D) in common £ FE& . HKRF4L.

in doubt EE|FEE, &AM,

4N : When you are in doubt about the meaning of a word, please consult a dictionary.
LR R AE R 0, T,

in addition B&-----+ 25 (GRE).

|t : We saw Mickey Mouse carton in addition to cowboy movie. B T X ERMEE
WmEhE RS, BilEEFRFR.

in vain 3.

. 14 .



